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QID : 101 - In the following question, select the related word from the given alternatives.

Banana : Fruit : : Ginger : ?
Aafaf@a o A Ru aw Rieveul 3 @ Hdfa ereg @1 gfaw)

AT : B & : eI : ?
Options:

1) Root

EES

2) Fruit

Bl

3) Flower

A

4) Stem

a4ar

Correct Answer: Stem
der

Candidate Answer: Stem
der

QID : 102 - In the following question, select the related letters from the given al

JPSW : LQUX : : MRFT : ?

Arafaf@a us & R v Reeut 3 & F&fdd 3Rt & gfaw) @
JPSW : LQUX : : MRFT : ?

Options:
1) OTVG

2) 0GTU
3) OSHU

4) OPQR
Correct Answer: OSHU
Candidate Answer: OSHU

QID : 103 - In the following question, select the related number from the given alternatives.
65:82::145:?

fArafafEa us # R v fweat 3 ¥ Fdifa dar a1 gfav)

65:82::145:?

Options:

1) 165

2) 168

3) 169

4) 170
Correct Answer: 170
Candidate Answer: [ NOT ANSWERED ]

QID : 104 - In the following question, select the odd word from the given alternatives.

Aefaf@a o # v arv faeeut & @ fawe e @ giaw)

Options:
1) Trees
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s
2) Leaves

3) Flower

R
4) Stem

T

Correct Answer: Trees
us

Candidate Answer: Trees

53

QID : 105 - In the following question, select the odd letters from the given alternatives.

Reafaf@a ua 3 fqu av et 7 & fawar 38R o gfav)

Options:
1) CEF

2) LNO
3)RTU

4) GIK
Correct Answer: GIK
Candidate Answer: GIK

QID : 106 - In the following question, select the odd number pair from the given alternatives.

eafaf@a ua o fqw av Rievedt & ¥ favar dwar oo @ glav)
Options:

1) 49 - 64

2) 576 -729

3) 441 - 484

4) 100 - 121

Correct Answer: 576 — 729

Candidate Answer: 576 — 729

QID : 107 - Arrange the given words in the sequence in which they occur in t

1. Waste

2. Wrong

3. Witty

4. Worcester
5. Warlike

TFafafed eree) @ Aeeemir 3 3 arer
1. Waste

2. Wrong

3. Witty

4. Worcester
5. Warlike

Options:
1) 51324
2) 13452
3) 51342

4) 15342
Correct Answer: 51342
Candidate Answer: 51342

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
A,C FHK?

T Jegehd foT I ¥, Forad & veh ug ofm ¥ v 1w Ryevedt F & ag @@ Rveq I, S 3regshe B @ w|

A,CFHK?

Options:

1M

2)N

3)L

4)0



Correct Answer: M
Candidate Answer: M

QID : 109 - In the following question, select the missing number from the given series.
1,3,6,10,15,?

eafaf@d ga & G aw eedt & ¥ @ 3@ A i

1,3,6,10,15,?

Options:

1) 20

2)21

3) 22

4) 24
Correct Answer: 21
Candidate Answer: 21

QID : 110 - In a row of people Manu is 7th from bottom end of row. Shrey is 10 ranks above Manu. If Shrey is 8th from top end, then how many people are there in
this row?

ST 1 T Ofeh H A AT FBR Y 7 d TIH W &I AT, AF ¥ 10 TH SR &1 I AT FW S OR A 8 d WA W, AT 38 Ui A oAt T 2

Options:
1) 25

2) 26
3)24

4) 23
Correct Answer: 24
Candidate Answer: 24

QID : 111 - Seven years ago, the age of Sahil was equal to the present age of Nih
is 4 years elder to Sahil, then what will be Ruchi's age (in years) after 10 years?

P -
Surf of SQj‘s’“a'ge 5 year ago and Nihal's age 6 years later is 58 years. If Ruchi
4,

e T e, TR Y 3T et B T 31 & R N 5 G ek B N6 o e Y Fverer 1 3 o AT 56 T ¥ A ¥, R @ 4 T
&, ar 10 ¥ arg ®f &1 3y (auf ) =7 aefre
Options:

2) 46 2

3)42

4) 36
Correct Answer: 46
Candidate Answer: [ NOT ANSWERED ]

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.

Representation
few 71w uar #, At fd fawedl 3 @ a8 eg giAT S fGT 97T 2eg & 3&RT &1 TANT aXeh Ael I1T ST Febell &l

Representation
Options:
1) Paint

2) Senator
3) Trees

4) Strict
Correct Answer: Strict
Candidate Answer: Strict

QID : 113 - In a certain code language, "TROUPE" is written as "GILFKV" and "ERUPTION" is written as "VIFKGRLM". How is "GENIUS" written in that code
language?

o fafrE @iz s1aT 3, "TROUPE" &Y "GILFKV" for@r ST & d27 "ERUPTION" &Y "VIFKGRLM" for@r SiTdT | 56 @5 HaT 3 "GENIUS" &Y foher TR for@r srean?

Options:
1) TVMRFH

2) TVMRGH



3) VIKRGH

4) TUVHRH

Correct Answer: TVMRFH
Candidate Answer: TVMRFH

QID : 114 - If "a" denotes "subtracted from", "B" denotes "multiplied by", "8" denotes "added to" and "3" denotes "divided by", then

1008B4d68a9="7
fg "a" @1 37 "Eera” %’, "B" 1 3 "o %’, "g" T Y "ShE" & TUT "3" T HY "HLIT” %, ar

1008B438a9="7?
Options:

1)7

2)5

3)9

4) 11

Correct Answer: 5
Candidate Answer: 5

QID: 115-192A 42B32 = 56 and 72 A 22 B 12 = 44, then
112A52B72="7?
It 92A42B32=56Tu72A 22B12 =449, ar

112A52B72=?
Options:

1) 29

2) 32

3)47

4) 24

Correct Answer: 47
Candidate Answer: 47

QID: 116 -
In the following question, select the number which
can be placed at the sign of question mark (?) fro
the given alternatives.

1 7
1 4
2 3

Options:

1) 32

2)35

3) 46

4) 47

Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]

QID: 117 -



How many quadrilaterals are there in the given
figure?

& 7 agla # frad 9ge ¥

Options:
1)3

2)4
3)7

4)6
Correct Answer: 7
Candidate Answer: 7

QID : 118 - In each of the following question below are given some statements followed by some conclusibr aking e given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the oficlusion logically follows the given statements.
Statements:

L. Some girls are clever.
II. All clever are hardworking.

Conclusions:
L. Some girls are not hardworking.

II. Some girls are hardworking.
III. Some hardworking are not girls.

A BT 917 9 94 F $5 HAF 3R 3730 916 3 i T E, TP 318 AT AT T2t A Readr & Goa) &1 T Aoy ud 3

hYA:

L. T JsfRal T B
I1. T ATeITed AeAdl &l

facay:

L $ sferal fgad =& ¥
IL. 3o wrzfnal Agadh ¥
IIL. & Ag=Ach sfhal g ¥

Options:

1) Only conclusion (I) and (II) follow.

g fAcRy (1) aur Fvay (1) T&

2) Only conclusion (II) follows.

Fad facwy (1) T8 &l

3) Only conclusion (I) and (III) follow.

aot sy (1) aur ey () T@r E

4) All conclusions follow.

o ey a8 E

Correct Answer: Only conclusion (II) follows.
Fael ARy (1) Te B

Candidate Answer: All conclusions follow.
s Ay aer §

QID: 119 -



From the given options, which answer figure can be
formed by folding the figure given in the question?

e Teea # @ FiF O 391 Hgla

# & 7% R B e TS I T 7
*
%
# $
>
|

Options:
1)

*
> |3
2)

*
¢ |1
3)

%
$ |
4)

%
> $
Correct Answer
*
> |8

Candidate Answer: [ NOT ANSWERED ]

QID: 120 -



In the given figure, how many bottles are not brown?

& of sty #, Reaeh aeet of af ¥

Brown / 311
3524 18
Bottles /
11 42 |13 )26 31 +—
( GIGE]
10 11 T2?’
Plastic / taTTEee
Options:
1) 58
2) 62
3) 102
4) 106

Correct Answer: 58
Candidate Answer: 58

QID: 121 -
Which answer figure will complete the pattern in the
guestion figure?

OO

aﬁaﬁma@%uamﬁuﬁﬁwaﬁwc

el

Options:
1)

A A

2)

A A

3)

A A

4)

>

Correct Answer:




A A

Candidate Answer:
A A

QID: 122-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

&r oE IR A # ¥ 3@ I HgE & gEw
T & oy ampla @R ¥

A

Options:

[
—

N
-

W
-

QD] ¥ @] |

Y
=

e

wer:

Candidate Answer:

®

QID: 123 -



A piece of paper is folded and punched as shown
below in the question figures. From the given

answer figures, indicate how it will appear when
opened?

0 F uy Ipfaal # RREw 3gER Fe= &
TsHT Sed I Ee & 9 a8 FE 39 e
S e aame

Options:

[y
~

N
-

3)

4)

COl |9 D

Correct Answer:

Candidate Answer:

QID: 124 -



If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg me gUuT @ AB T W @1 AW, ar & TS
TaT HTGEAl # H Bid @ 3NEa U Mg or

9

Options:

[y
—

v,

2)

NS

3)

Q=

4)

Y

Correct Answer:

S,

Candidate Answer:

S,

QID: 125 -



A word s represented by only one set of numbers as given in any one of
the alternatives. The sels of numbers giwven in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrixdl are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 21, 44, elc., and “T can be represented by 65, 87, elc
Similarly, you have to identify the set for the word “FATE”.

UE eE had U HEO-HAE g aofar i ot By Reedt F @
Rt T & T mar ¥ feeur # B v e 3R & e gt
BRI axiw amu § St R R are & gl # ¥ egE & FaEH Al
ofey i @m0 J 4 % 3 Imegel Hr 58 91 3 IR ¥ U HEW W
ugel 3ud Ufes AR A A TN TEAT SR R S Heal §1 gL
& faw B @ 21, 44, 3Ty G gty S awar § & ‘T Y 65, 87,
3Ne; gRT GRiET S Fehar &1 SHW e § UM uH & BU weg "FATE
& fow mHp @ uggEar )

Matrix-1 Matrix-ll

gl gl
0112314 561789
OlA|JU|O|E]| I S5|B|FIK|IN[T
1|E[I|AJU|O 6| T|B|F|K|[N
2I10|E| 1 |JA|U TIN|T|B|F|K
3|IUIO|E|I|A 8|KIN|T|B|F
411 |A|JU|O|E 9|/F|K|N|T|B

Options:
1) 56, 00, 87, 11

2) 96, 41, 59, 44
3) 88, 12, 76, 33

4) 78, 34, 98, 21
Correct Answer: 78, 34, 98, 21
Candidate Answer: 78, 34, 98, 21

QID : 126 - After which five year plan, 'The Rolling Plan’

R doayfa AT & dTe ' ATaRd TISTT (
Options:

1) Third Plan

I st

2) Fifth Plan

gt AT

3) Seventh Plan

I AT

4) Ninth Plan

At DT

Correct Answer: Fifth Plan
T ArSter

Candidate Answer: Fifth Plan
qrEdT JeteT

QID : 127 - Which tax causes a burden on the poorer section of the society?

DI | L FATS & T Aol & FHSAT TR Al Tl &2
Options:

1) Direct Tax

UcgaT il

2) Indirect Tax

HYUCTET hT

3) Both Direct and Indirect Tax
UcTeT IUT IYcTaT I At

4) None of these

saet I S e

Correct Answer: Indirect Tax
HYUTET hT



Candidate Answer: Indirect Tax
IAUTET Pl

QID : 128 - Which article was referred to as the 'the heart and soul' of the constitution by Dr. B. R. Ambedkar?

=T, Y. 37X, 3RFEa gRT R 3o 1 SiITYTE &l 'ged @ AT Hafatd fohdT a1 &7
Options:
1) Article 4

3 4

2) Article 32

3T 32

3) Article 28

303 28

4) Article 30

3geDE 30

Correct Answer: Article 32
e 32

Candidate Answer: Article 28

303 28

QID : 129 - Which of the following provision needs a special majority in Parliament?

FEfafd & & dia & wau & fT dHe 7 a9 TgaT B AT usd &2
Options:

1) Change in Fundamental Rights

FAfrw 31RFRT F aRada

2) Creation of New States

T T T ITSA

3) Abolition of Legislative Councils in State

T # Rrare aRwg &1 seqeers

4) Rules and Procedures in Parliament

Tue # e g uRear

Correct Answer: Change in Fundamental Rights
FAfrw 31RART F aRada

Candidate Answer: Change in Fundamental Rights
FAfrw 31RART F uRada

QID : 130 - Which act ended the "Trade Monopoly" of the East

ore AT J S sRaT U & "
Options:

1) Regulating Act of 1773

1773 @ fafagea sfafags

2) Pitt's India Act of 1784

1784 @1 Uew 3 sffaas

3) The Charter Act of 1833

1833 @1 Tk fafaTa

4) The Charter Act of 1813

1813 @1 arcx sfafaTa

Correct Answer: The Charter Act of 1813
1813 @ TTeR AT

Candidate Answer: The Charter Act of 1833
1833 @1 Ak fafaTa

QID: 131 -



Match the following.

TeaRg & e e

Battles / g Year/ a§

1. Battle of Buxar a. 1576
JFEY T IE

2. Batile of Plassey b. 1764
T T g

3. Battle of Haldighati ¢ 1I5F

EEITTEl g
Options:
1) 1-c, 2-b, 3-a
2) 1-b, 2-¢, 3-a
3) 1-b, 2-a, 3-c

4) 1-c, 2-a, 3-b
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 132 - Which of the following state receives rainfall due to western disturbances?

AFfafaa & ¥ frg vow 7 ofeh ey (e RBeed=a) & BRoT aut @ 2
Options:

1) Punjab

ot

2) West Bengal

OfRrar gemer

3) Kerala

T

4) Gujarat

6
Correct Answer: Punjab

EKIC

Candidate Answer: West Bengal
qfRra et

QID : 133 - Why does Western Ghats and Eastern Ghats botfreceive sufficient rainfall but Deccan Plateau receives scanty rainfall?

uf%aﬂamqpﬁurﬁﬁmwa?ﬁ%aaﬁﬁama?m;ﬁagammﬁ?ﬁ%lma—‘mm%?

Options:
1) It is a rain shadow area

IE T TP SR AT

2) Itis located parallel to wind direction

g arg &1 R F FHAER Rua &

3) It is away from the coast

TEFHE ATV oy U &

4) Rain bearing clouds are absent

a9 aTel dreelt &1 3EuRRfr

Correct Answer: It is a rain shadow area

ITE T Y SR AT

Candidate Answer: Rain bearing clouds are absent

e arel angelt &t Fguiata
QID : 134 - In which of the following part of the cell does the pyruvic acid is broken down into carbon dioxide, water and energy?

AT & 3 R ST 3797 3 USRS 31ee Tt P SEITFATES, STel aAT Soit A aRafda o smar 2
Options:

1) Cytoplasm

ERIRGarEe

2) Nucleus

Bimreey

3) Mitochondria



AT

4) Chloroplast
USEELCH
Correct Answer: Mitochondria

FARTOTERT

Candidate Answer: Chloroplast
FEGREE

QID : 135 - What is plant cell wall mainly composed of?

ey HIfReT ATy gead: raw gl @ &2
Options:

1) Lipids

fofug

2) Vitamin

afda

3) Cellulose

Aefeltst

4) Protein

o

Correct Answer: Lipids

s
Candidate Answer: Cellulose

BECIE
QID : 136 - What is the SI unit of Power?

ol &l TH TS ATh FIT &7

Options:
1) Boyle
aierer

2) Watt
afc

3) Newton
e

4) Pascal
URehel

Correct Answer: Watt

dic

Candidate Answer: Watt
aic

QID : 137 - Which one of the following is

AFAfafad & § Pl A1 T DI H YHR
Options:

1) Anthracite

TYRET

2) Lignite

IGEGIEA

3) Peat

e

4) Siderite

AE-Sedhl

Correct Answer: Siderite
ANE-Sedhl

Candidate Answer: Siderite
oE-Soaht

QID : 138 - Which of the following pair is INCORRECT?
1. Parsec - Distance

II. Barrel - Liquid

III. Light year - Time

Reafaf@a & & i @1 go# o 2

L ur#e - gl
I R - I



IIL. YhIeT a8 - HHY
Options:

1) Only I

haer I

2) Only Iand II

harel [ I

3)Only I

Fad 1T

4) All are correct

asfr g

Correct Answer: Only III
Shael I

Candidate Answer: Only II
Fad 1T

QID : 139 - What is the name of the first Super Computer of the world?

41 & JUA G HFYL Pl FAT AH §2
Options:

1) CDC 6600

@34 6600

2) USENET

FTHeIE.

3) COMODOR VIC/20

Y. 30T 3031310, 3R. fep/20
4) PARAM-10000

1.7, 31R.U.TH.-10000
Correct Answer: CDC 6600
.84 6600

Candidate Answer: USENET

goraae.

QID : 140 - Fog, clouds, mist are examples of

P, G, AT & 3eT0T B
Options:

1) Aerosol

wrare

2) Solid sol

3 el

3) Foam

T
4) Gel

et

Correct Answer: Aerosol
Wt

Candidate Answer: Aerosol
Wt

QID : 141 - Which of the following is a chemical formula of quicklime?

ArafafEa # & 3=ge 95 & TaRas §3 & ?
Options:

1) Ca,0

2) CayCOs3

3) Ca0,

4) CaO
Correct Answer: CaO
Candidate Answer: Ca,CO3

QID : 142 - Who was the pioneer of Chipko movement of 1973?

Y 1973 & RS 3Tglera & 3T AT BT A?
Options:

1) Sambaji

TS

2) Baba Amte



TET 3TAC

3) Sunderlal Bahuguna

JelelTel E!E'JIUH

4) Medha Patkar

FYT gTea

Correct Answer: Sunderlal Bahuguna
Geerel agom

Candidate Answer: Baba Amte
CICIKIIE: [

QID : 143 - 'Pradhan Mantri Digital Saksharta Abhiyan' is launched to digitally literate 6 crore rural households by .

‘gt N RBfSed aeRdar AT 6 F0E T gRariwr g BfSce anR wa & o 3w e e #)
Options:

1) March, 2019

&AM, 2019

2) March, 2020

AT, 2020

3) April, 2021

3ner, 2021

4) March, 2022

A, 2022

Correct Answer: March, 2019
&AM, 2019

Candidate Answer: March, 2019
A, 2019

QID : 144 - Edward Jenner discovered vaccine for which of the following disease?

TEas IR A AT # I forg o & forw &6 & @i i o
Options:

1) Polio

giferar

2) Tuberculosis
&7 T

3) Small Pox
ITH

4) Rabies

et

Correct Answer: Small Pox

JqP

Candidate Answer: Tuberculosis

&7 9T

QID : 145 - In 2017 Australian Open, Serena Williams defeated her sister Venus Williams to win the Grand Slam Singles title of her career.

a§ 2017 3 HERTITT ITeT 3, FYAT ARITH 3 3Tl deeT DT NI P G 30 NIA BT TeeT 415 TIA 1T her &
Options: '
1) 231

23 at

2) 18th

18 af

3) 26th

26 at

4) 20th

20 af

Correct Answer: 23

23 at

Candidate Answer: 237
23 af

QID : 146 - Which Indian state hosted the 3 days long 'International Yoga Fest' held from 8th to 10th March, 2017?

Fg AR T F 8 F 10 AT, 2017 T N g '3iaigia My #Agicad’ Hr Asmar 6 o
Options:

1) Uttar Pradesh

TR geer

2) Madhya Pradesh



HET TeRr
3) Maharashtra

HERTE

4) Delhi

el

Correct Answer: Delhi
el

Candidate Answer: Delhi
el

QID : 147 - Who was awarded with the Filmfare Lifetime Achievement Award for the year 2017?

Ty 2017 & RreAHI ABTHCRH Tt REPR § fre Friaa far i 2
Options:

1) Yash Chopra

BRIGIEE]

2) Kamini Kaushal

FIAAT PRI

3) Shatrughan Sinha

e fawer

4) Moushumi Chatterjee

FiaT Fesit

Correct Answer: Shatrughan Sinha
gee e
Candidate Answer: Moushumi Chatterjee

Atgeh gesit

QID : 148 - Who is the author of ‘The Windfall’?

& [dswia’ & or@e/ e aia &2
Options:

1) Manmohan Singh

HAA &

2) Amitav Ghosh

FfHaE g

3) Diksha Basu

aen ag

4) Arundhati Roy

sufa I

Correct Answer: Diksha Basu
&t &g

Candidate Answer: Amitav Ghosh
3ifddma aw

QID : 149 - Which country will host the 9th BR

Ty 2017 F 9 F o I N ASGTAT PleT T 2 @
Options:

1) Brazil

EIEic

2) Russia

&

3) India

HRAT

4) China

GicH

Correct Answer: China
Gic

Candidate Answer: China
Gio

QID : 150 - With which country has India signed an agreement for assistance in green and sustainable construction of infrastructure in the Himalayan Kingdom in
December, 2016?

HRA o TR 227 & T RATTIT THGT H &R JUT Efepiferes JTHITAT [ATT & Teh FHFNT W THFIR 2016 F g&A1eR e
Options:

1) Nepal

Juret

2) Afghanistan



RNt
3) Bhutan
e

4) Pakistan

qTfhEdTe
Correct Answer: Bhutan

e
Candidate Answer: Nepal
Guic

QID : 151 - For what value of X, 211X will be a perfect square?

X & fore A1t & forw 211X e qut adf gem?

Options:
1)4

2)5
3)6

4)9
Correct Answer: 6
Candidate Answer: 4

QID : 152 - 2 men or 3 women can complete a job in 96 days. Then 6 men and 7 women will complete the same job in how many days?

2 QoY 37T 3 ARATY Toh H &Y 96 AT 7 G O Tl &1 AF 6 JIW qAT 7 AR 38 R &l oA e &t aF
Options:

1)18 o N
2) 27 f

3)20 1 ;

4) 24 T N\ g
Correct Answer: 18 ;
Candidate Answer: 18 (/ "

t e.zbgmt must be increased, so that the volume of the cylinder remains

QID : 153 - If the radius of the cylinder is decreased by 20%, then by how much
same?

Ife o7 7 T F 20% P waY H AT &, A 3T ST H v ufae

Options:
1) 20

TR ST &1 IMTTA AT 6?2

2) 36.25
3) 56.25

4) 65
Correct Answer: 56.25
Candidate Answer: 56.25

QID : 154 - The marked price of an article is 40% maore than its cost price. If 15% discount is given on the marked price, then what will be the profit percentage?

Teh I 1 3T Fed 389% T HeT F 40% 311 T1 afE 3ifpd Hew W 15% & ge & Sl , A a7 ufdera e gem?
Options:

1) 25

2) 15

3)21

4)19

Correct Answer: 19

Candidate Answer: 19

QID : 155 - Three partners A, B and C share profit such that three times the share of A is equal to two times the share of B and equal to 12 times the share of C.
What is the ratio of the profits of A, B and C respectively?

T FRIER A, B IUT C AT &Y 380 USR dice & 16 A F REq &1 it 1, B & R o GHIAT & 1 C & R o1 IRE T[T e & SFAA: A, B IUT C &F AT & 31301
FATE?

Options:

1)3:2:12

2)12:2:3

3)4:6:1

4)1:6:4

Correct Answer: 4:6:1

Candidate Answer: 4:6: 1

QID : 156 - The average of 8 consecutive natural numbers is 38.5. What is the largest of these 8 numbers?



8 AT UTpicieh HEAT3T T A 38.5 &1 37 8 HEATIHT F A FaH TST FTAT Pied Y &7
Options:

1) 41

2) 39

3)42

4)45

Correct Answer: 42

Candidate Answer: 45

QID : 157 - If the cost price of 48 articles is equal to the selling price of 32 articles, then what is the profit percentage?

Ife 48 TEI3AT &1 HT Hed 32 TEIAT & FAhT He & T B, oY 197 gfaret foveta 2
Options:

1) 20

2)25

3)50

4) 75

Correct Answer: 50

Candidate Answer: [ NOT ANSWERED ]

QID : 158 - After deducting 12% from a certain sum and then deducting 25% from the remainder, 2508 is left, then what is the initial sum?

fopeh I=TT & 12%aﬁraﬂsﬁaﬂﬁ$miaamaiﬁ§é#m® 25% T heldl e I 2508 AW T ST &, af URTHS T&IT T 72
Options:

1) 3500

2) 3450

3) 3970

4) 3800

Correct Answer: 3800

Candidate Answer: 3800

QID : 159 - Two trains are moving in the opposite direction at speed of 30 km/hr and 45 km/hr r, péch lyrwh'ase lengths are 450 m and 550 m respectively. What
is the time taken (in seconds) by slower train to cross the faster train? :

&Y Yoramfaar sarer: 30 fop.3f. ufar wer qam 45 fp.ah. ufa ger & oifa & fAodia e 3
I ATl Y9N Y UR R 3 fhaar @@y (Japs ) i

Options:
1) 48
2) 54
3)62

4) 72
Correct Answer: 48

g?%%éjﬁm SFHRT: 450 e FAT 550 FHex 1 el 7 arel Yo e

Candidate Answer: 62

QID : 160 - A person lent certain sum of money at ple interest. In 20 years the interest amounted to Rs 500 more than the sum lent. What was

the sum lent (in Rs)?

ueh cafeh fenell FARIe TR &t 10% <t afifen & & SisRer &
[y (3. ) T A

Options:

1) 200

2) 500

3) 1000
4) 250

Correct Answer: 500
Candidate Answer: 500

W 3YR T §1 20 auf 3 TS sarer &1 AR, 3UR & 718 TR A 500 3. 317 & Sl ¥ 3UR & 718

QID: 161 -Ifa = 73, b = 74 and ¢ = 75, then what is the value of a3 + b3 + c3 — 3abc?

gfda=73,b=74duc =75 aral +b3 +c3 — 3abc &I AT T BI?

Options:

1) 365

2) 444

3) 666

4) 999

Correct Answer: 666

Candidate Answer: 666

QID: 162 - If x2 + (1/x2) = 31/9 and x > 0, then what is the value of x3 + (1/x3)?

FfE x2 + (1/x%) = 31/9 qATX > 0, @ X3 + (1/x3) &1 A T FIM?
Options:

1) 70/9

2) 154/27



3) 349/27

4) 349/7

Correct Answer: 154/27
Candidate Answer: 154/27

QID: 163 -
(x2 = 5x+6] (x2 —7x+12]

What is the value of (x2 === 2) L (x2 = 4] ?

(x2—5x+6]+[x2—7x+12] e o

(x2 -3x+2] (x2 = 5x+4]

Options:
1)1

2)2
3) (x=2)/(x-1)

4) (x +3)/(x+1)
Correct Answer: 1
Candidate Answer: 2

QID : 164 - If x — (1/x) = 3, then what is the value of (2x* + 3x3 +13x2 - 3x +2) / (3x* + 3)?

Il x - (1/x) = 3, @ (2x* + 33 + 13x2 = 3x + 2) / (3x* + 3) &I AT AT 9?
Options:

1)1/3

2)2/3

3)4/3

4)5/3

Correct Answer: 4/3
Candidate Answer: 4/3

QID: 165 -
In the given figure STIRP, then what is the va
degrees) of supplementary angle of y?

Rl HTA

& 1 wefa & STIRP,

(= &) T &2
T P
2x°
3X°y; 4xo
Q S R

Options:
1) 10
2) 60
3) 100
4) 170

Correct Answer: 100
Candidate Answer: 170

QID : 166 -



In the given figure, TB passes through centre O.
What is the radius of the circle?

& % BT F, TB FF O B IR &I gF A
= &2

Options:
1) (2v5)/3

2) (3v2)/5
3) (3v5)/2

4) (2V3)/5
Correct Answer: (3V5)/2
Candidate Answer: (3V/5)/2

QID : 167 - APQR has sides PQ and PR measuring 983 and 893 units respectively. How many such¢trian sible with all integral sides?
APQR Y 33T PQ 7T PR 3T FTT ZHaT2I: 983 1T 893 SaS &1 Waft 31FAs1Twy agomait & wrer ¥ Ry :

Options: .

1) 1876
2) 90

3) 1785
4) 1786

Correct Answer: 1785
Candidate Answer: 90
A

QID: 168 -
In the given figure, PQR is =24
cm, PR = 12 cm and altitu is the
diameter of the circum-circ gth (in
cm) of circum-radius?

& M A A PQR TEF st PQ = 24
a.ad., PR =12 Q3. Fur derda PS = 8 WA ¥
Iy PT a1 g9 &1 =g &, Ot O B & axas
(@5, ) Fam e

Options:
1) 15

2) 18



3)20

4) 21
Correct Answer: 18
Candidate Answer: 21

QID : 169 - What is the simplified value of sec® A — tan® A — 3 sec? A tan? A?

sec® A —tan® A - 3 sec? A tan? A T TRelpd HI T &2

Options:
1)1

2)0
3)1

4)secAtan A
Correct Answer: 1
Candidate Answer: 0

QID : 170 - What is the simplified value of (cosec A — sin A)(sec A — cos A)(tan A + cot A)?

(cosec A — sin A)(sec A — cos A)(tan A + cot A) &1 Teliged AT T &7

Options:
1)-1

2)0
3)1

4)2
Correct Answer: 1
Candidate Answer: 0

QID : 171 - What is the simplified value of (cos* A —sin* A)?

(cos* A —sin* A) T TR T T &2

Options:
1)0

2) 2 cos? A
3) cos 2A

4)1
Correct Answer: cos 2A
Candidate Answer: cos 2A

QID: 172 -



The pie chart given below shows the runs scored by
a player against 8 different countries. The total runs
scored by the player against these countries are
1600.

do Rr or @@ "R A 1 TomEr & T 6
foffiea =it & fovg a9 70 &1 & AT T4
% Romdr & TR = & & TowE @ aw g

T 1600 ¥
New Zealand/ South Africa/
e EICES Zfayor 3rfreer
0,
16% 17%
Pakistan/
qifehEara

12%

SriLanka/

9%

How many runs has the player scored against Pakistan?

TS F uTfhee & fawg fpaa W a9 &2

Options:

1) 272

2) 192

3) 256

4) 144

Correct Answer: 192
Candidate Answer: 192

QID: 173 -



The pie chart given below shows the runs scored by
a player against 8 different countries. The total runs
scored by the player against these countries are
1600.

do Rr or @@ "R A 1 TomEr & T 6
faffee Rt & g s 7w = # g
t e & R 3w M & Rwg gaw aw g
= 1600 &

New Zealand/

s

16%

South Africa/

Pakistan/

arfehEdT
12%

SriLanka/
P CEDS
9%

O

The difference between the runs scored against England and Pakistan is same as thédiffér between which of the following two countries?

3703 YT NIRRT & fa6g I 910 AT & i ot 3R Feafariad & & fora ar TG T IAT & d & AR B A &2
Options:

1) South Africa and Sri Lanka

af&oT 3nhrenr aaT HereT

2) South Africa and New Zealand

STRTOT 3THIRT FAT =gEteis

3) Australia and Sri Lanka

treeforar aar Aeier

4) Australia and New Zealand

Jiregforar aur =gEieis

Correct Answer: Australia and New Ze
STECTrT aAT = iels

Candidate Answer: South Africa and Sri Lanka
af&roT 3nhrer aaT HeieT

QID: 174 -



The pie chart given below shows the runs scored by
a player against 8 different countries. The total runs
scored by the player against these countries are

1600.

do Rr or @@ "R A 1 TomEr & T 6
foffiea =it & fovg a9 70 &1 & AT T4
t e & R 3w M & Rwg gaw aw g

T 1600

New Zealand/

s

16%

Pakistan/

arfehEdT
12%

SriLanka/

9%

South Africa/

ngland /
Zoivs
21%
HrEgferar
25%

What is the difference in runs scored by the player against Australia and Sri Lanka?

TS gRT TRToraT T Aieia & g g 7T A1 & g 3 fohaar 3R &2

Options:

1) 256

2) 128

3) 114

4) 80

Correct Answer: 256

Candidate Answer: [ NOT ANSWERED ]

QID: 175 -

<

OO



The pie chart given below shows the runs scored by
a player against 8 different countries. The total runs
scored by the player against these countries are
1600.

do Rr or @@ "R A 1 TomEr & T 6
foffiea =it & fovg a9 70 &1 & AT T4
t e & R 3w M & REE gamw aw g

T 1600 ¥
New Zealand/ South Africa/
6%
17%
Pakistan/
arfehEdT
12% England /
gaolvs
SriLanka/ 21% {
9% Australia/
e
25%

Difference between the total runs scored against Australia and New Zealand and th

ta{uns“s refégainst Sri Lanka and Pakistan make what sectorial angle (in
degrees) in the pie chart? ! ]

Ao a0 =geiels & fa%g aary 710 oot X7 AT Aeid g2 Uit & ‘fzﬁaﬁﬁaa?quaﬁaﬁﬁmmmaﬁw(%?ﬂﬁ)m%?
Options:
1) 90

R

3)36

4)72
Correct Answer: 72 “
Candidate Answer: [ NOT ANSWERED |

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'. ]

The CEO only discussed (1)/ the new venture (2)/ with ﬁis manager. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

If she was marrying Mr. Gupta (1)/ she would have been (2)/ recognized as Mrs. Gupta. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Ankita is disgusted the habit of her brother.



Options:

1) at

2)on

3) of

4) with

Correct Answer: at
Candidate Answer: with

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Due to the security reasons we were
Options:

1) denied

2) rejected

3) stopped

4) warned

Correct Answer: stopped

Candidate Answer: denied

from entering into the cockpit of the plane.

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Exorbitant

Options:

1) Clear

2) Dull

3) High

4) Rare

Correct Answer: High
Candidate Answer: Rare

PRGN
QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to ti worﬁv
¥4

Jeopardy - N
Options:
1) Angry 4
2) Injure N
3) Risk f
4) Serene X ,
P

Correct Answer: Risk
Candidate Answer: Serene

QID : 182 - In the following question, out of the four alternative: osite in meaning to the word given.

Churlish
Options:

1) Belittle

2) Courteous
3) Fervent
4) Uncouth

Correct Answer: Courteous
Candidate Answer: Fervent

QID : 183 - In the following question, out of the four@lternatives, select the word opposite in meaning to the word given.

Phlegmatic

Options:

1) Ardent

2) Indifferent

3) Prohibit

4) Merciless

Correct Answer: Ardent

Candidate Answer: Merciless

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Damp squib

Options:

1) Complete failure

2) Complete knowledge
3) To motivate

4) To squander money

Correct Answer: Complete failure
Candidate Answer: Complete failure

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Rise like a phoenix
Options:



1) Something memorable

2) Time to answer for one's action
3) To become successful again

4) To make people happy

Correct Answer: To become successful again
Candidate Answer: To become successful again

QID : 186 - Improve the bracketed part of the sentence.

The mobile phones have made digital cameras a little (superfluous) in today's world.
Options:

1) extinct

2) obsolete

3) redundant

4) No improvement

Correct Answer: obsolete

Candidate Answer: obsolete

QID : 187 - Improve the bracketed part of the sentence.

If (you will approach) her sincerely, she will listen to your problem definitely.
Options:

1) you approach

2) you are approaching

3) you will be approaching

4) No improvement

Correct Answer: you approach

Candidate Answer: you approach

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substi te£f the phrase.

" Zf'\
That which is away from centre N
Options: L Q ) '
1) Eccentric N N
2) Eclectic ;
3) Ellipsis
4) Equine iessr?
Correct Answer: Eccentric
Candidate Answer: Eccentric

QID : 189 - In the following question, out of the four alternatives, select the al ch is the best substitute of the phrase.

One who values practicality
Options:

1) Apotheosis

2) Pliable

3) Pragmatist

4) Realist

Correct Answer: Pragmatist

Candidate Answer: Pragmatist

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options: :

1) Pedestrain

2) Plaintiff

3) Potatoes

4) Potassium

Correct Answer: Pedestrain

Candidate Answer: Plaintiff

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Fabulous

2) Gorgeous

3) Heterogeneous

4) Inocuous

Correct Answer: Inocuous
Candidate Answer: Inocuous

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- A sensitive mind easily absorbs the vibrations emanating from the thought of the people it associates with.

Q- We often say that a person is known by the company he keeps.

R- The violent can be made calm by exuding thought of love and compassion.

S- Visits to holy places are considered good because the good thoughts of the holy people gathered there and the ensuing vibrations definitely affect one in a positive
fashion.

Options:

1) RQPS



2) QRSP

3) PQRS

4) SRQP

Correct Answer: RQPS
Candidate Answer: QRSP

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- Epistemological idealists (such as Kant) might insist that the only things which can be directly known for certain are ideas.

Q- The approach to idealism by Western philosophers has been different to that of Eastern thinkers.

R- In much of Western thought (though not in such major Western thinkers as Plato and Hegel) the ideal relates to direct knowledge of subjective mental ideas, or
images.

S- It is then usually juxtaposed with realism in which the real is said to have absolute existence prior to and independent of our knowledge.

Options:
1) RQPS
2) PQSR
3) PRQS
4) QRSP
Correct Answer: QRSP

Candidate Answer: QRSP

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Karnataka grows coffee

Options:

1) Coffee is being grown in Karnataka.
2) Coffee grown in Karnataka.

3) Coffee is grown in Karnataka.

4) Let the coffee be grown in Karnataka.

’

Correct Answer: Coffee is grown in Karnataka. £ ' N
Candidate Answer: Coffee is grown in Karnataka. K )
(/’ § S ~ ”

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the fou altématives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech. \
a N

™

w

Gopal's mother reminded him to take his wallet.

Options:

1) “Are you going to take your wallet or not?” said Gopal to his mother.
2) "Don't forget to take your wallet, Gopal” said his mother.

3) Gopal's mother said, “Remember your wallet, Gopal?

4) “Here is your wallet Gopal” said his mother.

Correct Answer: “Don't forget to take your wallet, Gopal” said
Candidate Answer: Gopal's mother said, "Remember wall

QID : 196 - In the following questions, the sen
indicate it by selecting the appropriate option.

k to be filled in with an appropriate word. Select the correct alternative out of the four and

Organization are institutions in which members compete
own departments, for advancement and for power &

. They for the resources of the organization, for example, to expand their
e activities of others.

Organization are institutions in which members compete for status and
Options:

1) growth

2) money

3) power

4) success

Correct Answer: power

Candidate Answer: power

QID : 197 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
own departments, for advancement and for power to the activities of others.

to expand their

They for the resources
Options:

1) compete

2) expand

3) rely

4) run

Correct Answer: compete
Candidate Answer: compete

QID : 198 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example, to expand their




own departments, for advancement and for power to the activities of others.

of the organization, for example, to expand
Options:

1) finance

2) infrastructure

3) resources

4) source

Correct Answer: finance
Candidate Answer: infrastructure

QID : 199 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example, to expand their
own departments, for advancement and for power to the activities of others.

their own departments, for advancement and
Options:

1) career

2) financial

3) regional

4) technological

Correct Answer: career

Candidate Answer: technological

QID : 200 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

to expand their

Organization are institutions in which members compete for status and . They for the resources e Organization, for example,
own departments, for advancement and for power to the activities of others. "

for power to the activities of others.
Options:

1) affect

2) control

3) curb

4) pursue

Correct Answer: control

Candidate Answer: control




